Asian Stanley International Co., Ltd.

Road Light

Instruction manual

Control No. D00191296F

For retention and reference

@ Installation of this product/ luminaire must be carried out by a qualified electrician in accordance with the national, local
electric and construction codes and regulations. Installation by unqualified person is prohibited by law.

Light Power
Product Name Color Power Rated voltage Rated Current factor
LLFOO16A/LENA/56/C/IN/100 3000K 100W 100V 1.00A
LLFOO16A/LENA/56/C/IN/100/NC 240V 0.42A
LLFOO16A/LENA/56/C/IN/C] 3000K 117w 100V 1.17A
LLFOO16A/LENA/56/E/IN/C] 2000K 240V 0.49A
LLFOO16A/LENA/64/C/IN/C] 3000K | 5aw 100V 1.40A
LLFOO16A/LENA/64/E/IN/C] 2000K 240V 0.56A
100~240V
LLFOO16A/LENA/72/C/IN/C) 3000K | Leow >0Hz 100V 1.50A
LLFOO16A/LENA/72/E/IN/C] 2000K 240V 0.63A
LLFOO16A/LENA/76/C/IN/C] 3000K | Leaw 100V 1.58A
LLFOO16A/LENA/76/E/IN/C] 2000K 240V 0.66A 0.96
LLFOO16A/LENA/80/C/IN/C] 3000K | Leow 100V 1.67A
LLFOO16A/LENA/80/E/IN/[] 2000K 240V 0.70A
LLFOO016A/LEN2/96/C/IN/L1P1W140 140W 220V 0.67A
3000K 220V 50Hz
LLFOO16A/LEN2/96/C/IN/LIP1W176 176W 220V 0.84A
LLFOO16A/LENA/96/C/IN/[] 3000K >02W 100~240V 100V 2.02A
LLFOO16A/LENA/96/E/IN/C] 4000K 50Hz 240V 0.84A
LLFOO16A/LEN3/96/C/IN/L1P2W205 205W 220V 0.97A
3000K 220V 50Hz
LLFOO016A/LEN3/96/C/IN/L1P2W226 226W 220V 1.07A
A+++1,2,30r4 [)---Aor NC
Item Value

Overall dimensions

734mm x 313mm X 151mm

Weight 10kg
Maximum projected area 0.198 m?
IP classification IP66
IK classification IKO8
Operation temperature —20~50C
Mounting height 6~14m

Compatible pole

®60.5mm (Length 2135mm) 3XSide-entry

- This product is classified as Class | luminaire.

- For outdoor use only.

- The light source contained in this luminaire shall only be replaced by the manufacturer or his service agent

or a similar qualified person

- LED has dispersion in brightness and light color. The product may have different light color and brightness even among

products with the same model number.

- Please note that unevenness of the projected light may be noticeable depending on the irradiation distance
or the condition of the irradiation surface.

1/8



Control No. D00191296F

Installation instructions Installer, please save a copy this instructions manual for retention and reference by the end user.

Attention at installation

Incorrect handling of this product may cause serious personal injury, death and damage to
WARNING
the product and property.

@This product must be installed in accordance with the installation instructions to avoid malfunction, fixture fall, electrical shock or fire.
@This product is only for general outdoor or general indoor use.
@Do not use the product in the following environment or situation. It may cause fall of the fixture, electric shock or fire.

- Places where the humidity exceeds 90% RH or the product is covered with water.

- Places where vibration or shock are transmitted to the fixture, e.g. where the crane is installed.

- Places where fixtures are directly exposed to organic solvents (acetone, ethyl ether, hexane, etc.)

- Places filled with corrosive gas (hydrogen sulfide, ammonia, etc.) and flammable gas (hydrogen, methane, propane, etc.)

- Indoor pools where chlorine is used.

- Places where flammable liquid (gasoline, kerosene, heavy oil, etc.) is used.

- Places where there is much oil mist, e.g. metal working plants, kitchens, etc.

- Place with much mine dust.

- Places covered with heat insulating materials or combustibles.

- Places where fixtures are buried in snow.
@Do not disassemble or modify the fixture. It may cause fall of the fixture, electric shock or fire.
@Do not remove the vent filter and give shock to the fixture to avoid water intrusion.
@Do not operate the product when it is damaged. It may cause fall of the fixture, electric shock or fire.
@ If there are abnormalities found in the product such as smoke or unusual odor, disconnect power immediately and contact dealers.
@Use the fixture within the specified input voltage range.
@Please perform class D grounding work(100 ohms and below) for the ground wire.

Failure to perform grounding work may cause a fire or electric shock.

& CAUTION There is a possibility that it is assumed to owe injury.

@ This product is only for general outdoor use. It cannot be used anywhere else. It may cause a fall, electric shock, or fire.

@ A high brightness LED is used as a light source. Do not look directly at the light source (LED).

@ The wind pressure resistance is 52 m/s. Do not install in places where the wind speed exceeds it to avoid fall of the fixture.

@ The product must be used with the specified input voltage and frequency.

@ Use the fixture within the specified operating temperature. During the daytime, do not use it except for temporary operation check.
Failure to comply with them may reduce the life of the fixture and cause electrical shock or fire.

@ When the product is used in cold areas, do not install in places where icicles can fall.

@ Do not install the product in places containing sulfur component such as hot spring.

@ Do not install the light source of this product in a place where people can keep looking at it for a long time.

@ Do not intentionally touch or remove the vent filter or cable gland. It may impair waterproofness.

@ Observe the following installing conditions when installing this product.

PART NAME

Cover Glass

(Fixing Screw, %Don't loosen screw) Top Cover

(Safety Bolt)

Terminal Block
For AC

Housing Set Screw M8
For installing pole

2/8



Control No. D00191296F

Check The Pole Adapter

Please process according to the following
because it will cause the instrument to fall.

7

o
e
oo O
o
fal
A —
0 o

[—

Pole

\ @15 hole

For Safety Bolt

Installation procedure

1.0pen cover

Open Latch

2.Install pole by set screw M8.

Section : Housing
Bolt / Screw Layout

Recommended set screw M8 torque : 12.5 N-m

2.1 Move the Hexagonal Bolt M8 up.

Pole stopper
Structure

2.3 Fix the pole by tightening Set Screw M8

2.2 Insert pole to Housing
Bring the pole into contact with the pole stopper

Pole

T T
(NEED LENGTH OF DIAMETER ¢60.5)

Recommended Set Screw M8 torque : 12.5 N-m

Set Screw M8 strikes to the pole

Pole is parallel to the pole contact surface.

3/8



Control No. D00191296F

3. Install Hexagonal Bolt M8 for safety to ®15 hole of housing.

Recommended Hexagonal Bolt M8 torque : 12.5 N-m

Electrical wire connection method

1.Install AC line cable to Cable gland by tightening the Cable gland.

Recommended torque of Cable gland : 2.2 ~ 3.0 N-m

Requirement of input AC line cable

+Conductor of wire : 2.5 mm?2
3-Core : L(R/S/T), N, G
-Available cable sheath size : ®6~®11mm

wo+x2 90 +5

(L)
Phase R : Red / Phase S:Yellow _
/ Phase T : Blue

(N)Neutral : Black

@ Earth : Yellow-green”

2.Connect wire of AC line cable to Terminal Block(Female)

2.1 Use “+" driver to unscrew M3
2.2 Pull out Terminal Block (Male)

Loosen screw M3

Block terminal —>

21 (Female)

Block terminal —>|

(Male)

Cable gland

AC line cable

N

7
RS

(2]

1
1 Pull out
: Block terminal

i

@ E
(-
@

N @D O

4/8



Control No. D00191296F

2.3 Connect AC line cable to Terminal Block (Female) by using “-” driver

Insert AC line cable to Terminal Block (Male)

Contact conductor of AC line cable
to the inside of Terminal Block (Male)

ND WL

2.4) Assembly Terminal Block (Male) to Terminal Block (Female) by push together until tight.
2.5) Fix Block terminal with housing by using screw M3
Recommended screw M3 torque : 6.0 kgf-cm

Block terminal
(Female)

Assembly
Terminal Block

Block terminal
(Male)

3.Check rubber that must in a right position.

Rubber No Good
(for water proof) \ No Gap between rubber and Rib

Good No Deform, No twist, No float from Rib
Position

can’t waterproof
protection

can waterproof
protection

4. Close cover and lock Latch

Cover—>|| _~ Close Top Cover

Lock Latch

5/8



Control No. D00191296F

Design Attitude

Install as shown below.

Fall prevention wire&clamp

Only the following products

- LLFOO16A/LEN2/96/C/IN/L1P1W140
- LLFOO16A/LEN2/96/C/IN/L1P1W176
- LLFOO16A/LEN3/96/C/IN/L1P2W205
- LLFOO16A/LEN3/96/C/IN/L1P2W226

Attach the fall prevention wire to the pole as shown below.

6/8



Control No. D00191296F

ERikasBA BERA CORABEIHBIRE TV

Handling instructions Dear customer, please retain this instruction manual.

ER_EQFE / Handling notes

Rz ieoltmzs. AR EEEEZ&SnIREENHDET
E& / WARNING | Incorrect handling of this product may cause serious personal injury, death and/ or damage to the
product and property.

O BFANDERE. BUREREBZ A TITOTTFEL 5B T BE. NKDREERDFT,
When servicing this luminaire, please strictly follow the instructions in the manual.
O BFANOIRE, T EFEZYH>TITOT T2V BREDRREERDET,
Always turn OFF the power before performing and maintenance.
O BEIRTOEIRPL DR, BSOS CURVT TSV 58T B&E. NKDRREBRDFT,
Do not disassemble this product, repair or replace any of its components. - Risk of electric shock, fire or the product fall.
O RICIIBIEELEDZEALTVET . XIESE BHRUBVTIZEN,
This luminaire uses high bright LED. Do not look directly at light source, it may harm your eyes.

. iRz IGE . BEZ2BIENEEEINZ RN DDET
A A& / CAUTION Risk of personal injury when the product is not handled correctly

O HBFANDRE. HIFEFEZTL> TRBITFIBITHMSITOWEEV. MEDRERERDET,
Always turn off the power supply and allow the product to cool sufficiently before performing any maintenance
o BAFERENSVES(F. FamiEdnEs,
At higher ambient temperature, life span will be shortened.
o FMHIRIATLEREZRUIIGEEE. ICICEREYH TIRTEmAEIEL TIZEL,
EENMEURETHERA TN EPREBORRERDET,
When abnormality occurs, turn off the power immediately and contact your distributor for assistance. Continued use of the
product risks electric shock and fire.
o [ TIF O —RF R s THERR IS TIEBA HICRATEERVNTZE L,
IRBAER ENE S BHXICI O TROSNTUVIIREERD T, sUT(CEDBRERNEFEEN LRUET,
Please do not light up during daytime, except for lighting checks and confirmation.
The internal temperature of the luminaire will rise if operate under direct sunlight.
O FETHURZTIFERAIZIBEE. SBISBENRVEIICEREL TZEL,
When using in snowy condition, please clear snow to prevent the luminaire from being buried in snow .
O L XENTENIMIE I BEIERDFIONT, 1FICIEOBE FIRMFEHEREUFT . IENZIHEEB LA} TRNET.
It is recommended to clean lens annually. Brightness is reduced when dirt adhered to the lens.
The brightness will return to the original state when the dirt is wiped off.
O ZR(MERATZHIC. 1FIC1EIFB ERIREH TR TIZEL,
Please inspect the luminaire once a year to ensure safe usage.
@ 3£F(C 1 Bl THEIEREFFIRICEDHMEEH TR TKIZE,
GEUERBBUEDIOOVTEIANRICEHRES TR TIZEL, )
BEREBOFFEAVFIERIE - RN BB, NEETORERERDENDHDET,
Please have the luminaire inspected by a specialist, such as an electrical contractor once every 3 years.
(The luminaire requires thorough inspection when used for 3 years or more. )
Under abnormal operation, there is risk of electric shock and/or the luminaire may fall from the installed location.
O LEDRFICF/N\TYF A HDE—BEDIRIAZR 2LV TEHE, BAZEINERIIBENDIFIT DT TA&EIZEL,
Please understand that the color and brightness may differ between luminaires even for the same model because of
variation in LED chips.

BFANICOWVT / Care for your equipment

O BEHFANDERE. SITEBRIFEYHTIZE,
SHITERIZBRENSREB O TOETOTUERL (20~30012E) BFfZSEVTHSBITOTZE,
Be sure to turn off the power before performing any cleaning.
As the product may be hot after switching off, please wait for a brief interval(20~30 minutes) before cleaning.
0 2220 EPLHN-DHEDBENEZETIHZECE. ZENMRZIKHDNEHFEDEIFAKITRU, FUFEITHEHEEOTIZEL,
To wipe off dirt on the surface of equipment or cover, use a damp soft cloth
(Squeezed off after soaking in water or Neutral soap water).
0 — ROTVREDIEFRIEDED. B - 7IAURFERITHIMVWT TV, ZE. ZORERERDET,
Please do not wipe with thinner, benzene acid, or alkali detergent. It will cause discoloration and the deformation.
O R—ARETHEIFEREI(TIKEMIRNTLZEN, Flz. BTy T S3RERRVSEIREITNRVTIZE,
SEEANDRKPZEEORIEDREERDET .
Do not spray water directly on the luminaire with a hose, or clean with a mop or floor brush etc:--
It can cause water ingress and or damage to the luminaire.

7/8



Control No. D00191296F

{REEICOWT / Warranty

©® HAAZE T HN AR TR AREZITV. REOHIEZEMFEVFET.
Rl BRI N VG S (L REERNEMIN. RARB(CEBULEOLYIEE TIREFT.
After receiving, please perform an acceptance inspection promptly and verify the product performance.
If we do not receive report of any problem, we would assume that the product has passed your acceptance inspection.
o (REFHARI. MRAFE(CECEL CVVSRARZ CHESRIZE L,
REE(COVTIFINA BEGR TOAREE THD, SHMEZR(HIEE T & - BEMEREOERFERCOOVTEITEMLIZEL,
The warranty period is stated in the warranty card. We warrant the product is free from defects in manufacturing,
materials and workmanship. We may replace your defective product with a similar or improved product at our option.
In no event shall we be liable for any special, incidental, consequential or indirect damages.
o HIERAENT RRICRIBROBECOVTIIRIEDOI RN EE TIEZET,
The warranty does not cover the followings:
OBERV_EORNFERURMERCLBEE
Failure caused by improper handling and/or misuse.
QUUEPHEHKME A TIEIRZENUHEIC L5 H0E
Failure caused by alteration to the product and repair by any authorized person.
O LRMEARE T RUEMGTOERATEUEE
Failure caused by operating in environment and conditions, outside the product specifications.
@KLK (NK-HE-BR) FICITEULERE
Failure caused by the natural disasters (Fire, Earthquake, Typhoon, etc.)
OXRTEFREOFER - RERERGZEFRUIGESICRE USRI L&
Failure caused by dew/ condensation when in operation/ storage temperature and conditions outside the product
specifications.
@FZEVBAREBEY — DREODEKHIAN R CLHTEUE
Failure caused by electrical stress such as excessive voltage surge, including lightning.
o HIEFADFERNRELRRGECE. mtfiREESETaEFT,
When the root cause of failure could not be determined, both parties should negotiate in good faith for a settlement.
® AHEEOARIR\ANLFEZERLTVET,
EHNRRIUARUIN CTTREAINZOZLCLDREUHSDRIBE(COVTEH TE—IEE2EVERA.
This product is intended as a light source for illumination applications. We do not assume any responsibility for
any damages caused operating the product outside its intended use.

ZzkATN3LE / For replacement

o REIEARIFR(L. A BZFETEZOOERATHBEV LIFORSEE (THE) FTHRULIZE,
During the warranty period, please produce the proof of purchase date to the distributor(constructor)
o REIEARIZIBE TOBIFEBE LV LIFOIRSEE (THE) ([CTHEAKIZEW.
CHRZ(CELDERICTRIRE T TUEEET,
When the warranty period has expired, please consult your distributor(constructor) for replacement.
At your request, we will replace the product at your cost.
® 7I75—Y—-ERIIOVWTCABRRIMNIZIACEI I DTBHIE. BEVLIFOIRSEE (THE) FE ot &EOC
BEVEDEZEL,
TOMRFEBREDRE. BEL L IFIFIIZSRNRBESETZEN,
For after-sales service, queries, consultation and replacement, please contact the distributor from which the product was
purchased or contact us.
At that time, please inform us of the name of the equipment and the date of purchase.

BRmICBITZHEEND / For product enquiry

o BEIVEDEDIRIZREHRIRTERERNEHIRDIR. JELEITEL,
For enquiry, please quote us the product model found on the label on the product.
o EFEFESHE. BHRBZBENDDET , R—LAR—ITIHERIE,
Our phone numbers printed in this manual may change. Please visit our homepage for the latest contact information.

ASIAN STANLEY INTERNATIONAL CO.,LTD.

48/1 Moo 1 Kukwang Ladlumkaew, Pathumthanee 12140 Thailand
TEL : +66 2 599 1260

AT -BREASH
STANLEY ELECTRIC CO.,LTD.

BRYFTSA MY A— 7225-0014 w2 || Br Rt B ERERERE2-14-1
Yokohama Satellite Center : 2-14-1 Edanishi, Aoba-ku, Yokohama-shi, Kanagawa, 225-0014 Japan
TEL : +81 45910 6629

A 1538636 EmHEERTEE2-9-13

Head office : 2-9-13 Nakameguro, Meguro-ku, Tokyo, 153-8636 Japan
TEL : +81 3 3710 2222

8/8




	スライド 1
	スライド 2
	スライド 3
	スライド 4
	スライド 5
	スライド 6
	スライド 7
	スライド 8

